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1000 CLS

1010 INPUT "ROW :N1 AND COL :N2”; N1,N2
LPRINT TAB (5) "Ni1="N1, "N2="N2

1020 DIM A (N1, N2) , A1 (N2, N2) , W (N2» , B (N2) ,
C (N2) , P (N2>, Q (N2) , X1 (N2)

1030 LPRINTZcoveiens cae DAT A coveeriraea”

1040 FOR X =1 TO N1

1045 PRINT X; :LPRINT TAB (3) ; X;

1050 FOR Y=1 TO N2

1060 READ A (X, Y

1070 PRINT A (X, YY) ; :LPRINT TAB (Y »10)

A YY)
1080 NEXT Y
1090 PRINT” "+ LPRINT
1100 NEXT N :LPRINT »: LPRINT

1110 A1 (1, 1D =N1

1120 FOR Y=1 TO N2 -1

1130 L=0

1140 FOR X =1 TO N!

1150 L=L+A (X, VO

1160 NEXT X

1170 I=I+1 :J=1

1180 A1 (J+1, » =L A1 (, J+1 =L
1190 NEXT Y

200 C=C+1: W=W 1

1216 FOR Y=1 TO N2—1

1220 L=0O

1230 FOR X =1 TO N1

1240 L=L+A (X, YY) «A (X, O
1250 NEXT X

1260 A1 (Y+1, W+1) =L

1270 NEXT Y



1280 IF C<>N2—1 THEN 1260

1290 L=0:Y1=0:C1=0

1300 FOR X=1 TO N1

1310 L=L+A (X, N2) : Y1=Y1+A (X, N2) A2

1320 NEXT X

1330 W (1) =L:C1=W ) A2

1340 FOR Y=1 TO N2—i

1350 L=0

1360 FOR X=1 TO N1

1870 L=L+A (X, N2) #A (X, )

1380  NEXT X

1390 W (Y+1) =L

1400 NEXT Y

1410 FOR K=1 TO N2

1420 W=0

1436 FOR I=K TO N2

1440 FOR J=K TO N2

1450 IF ABS (A1 I, J) ) >ABS (W) THEN W=A1 J, D)
:I0=1:J0=7J

1466 NEXT J

1465 NEXT 1

1470 IF ABS (W) < =10/, (-12) THEN PRINT “FAIL"

1480 IF IO0=K THEN 1520

1490 FOR J=1 TO N2

1500 Z=A1 10, J» :A1 (IO, ) =A1 (K, D
A1 K, Iy =2

1510 NEXT J

1520 IF JO=K THEN 1560

1530 FOR I=1 TO N2

1540 Z=A1 {d, JO) (A1, JO) =A1 {, K)
A1 d, Ky =Z

1550 NEXT I

1560 P (K) =10:Q (K) =JO

1570 FOR J=1 TO N2

1580 IF J=K THEN B¢(J) =1/W:C (J) =1 ELSE
BW =-A1 X, Hh/W:CW =A1d, K)

1590 A1 (J, Kb =01 A1 (K, ) =A1 J, K)

1600 NEXT J

1610 FOR I=1 TO N2

1620 FOR J=1 TO N2

1630 A1 (I, I =A1 d, J) +C (D «B D

1640 NEXT J

1645 NEXT I

1650 NEXT K



1660 FOR K=N2 TO 1 STEP -1

1670 I10=P (K> : JO=Q (KO

1630 IF IO=K 1720

1696 FOR I=1 TO N2

1700 Z=A1 (I, IO : Av d, IO) =A1 1, K>
A1 d, Ky =Z

1710 NEXT I

1720 IF JO=K 1760

1730 FOR J=1 TO N2

1740 Z=A1 (JO, O A1 (JO, D =A1 (K, J)
Al K, J) =2

1750 NEXT J

1760 NEXT K

1770 FOR X=1 TO N2

1780 L=0

1790 FOR Y =1 TO N:

1800 L=L+A1 (X, Y) »W (Y)

1310 NEXT Y

1820 X1 (X) =L

1830 PRINT "B’X-1"="; L. : LPRINT "B"X-1"="; L

1840 NEXT X

1850 LPRINT ” 7 3 LPRINT * r : L=0O

1860 FOR X=1 TO N2

1870 L=L+X1 (X) =W (X)

1880 - NEXT X

1890 S=0 : S1=0 ¢ S=Yi1-L : Si=Y1i- (/N1 +Ci

1900 PRINT "R="; (1-S/S1) A /2, "SURPLUS="; 8,
"SUM="3 S1, "SREG="y S1-S

1910 LPRINT “R="; -S/S1) » /2y, "SURPLUS="; S,
"SUM="; Si, "SREG="; 81-S :LPRINT ~” ”

1920 FO= ( (81-8) / (N2-1) ) / (8/ (N1-N2) )

1830 PRINT “FO="; FO :LPRINT "FO="; FO : LPRINT

1940 FOR Y =2 TO N2

1950 P=X1(Y) n2/A1 (Y, YY) : T=P, /2 / S/ (N1-N2))
A /2 F=P/ S/ (N1-N2))

1966 PRINT "P’Y-1"="P; TAB (25) "T"Y-17="Ty TAB (G0)
*F*Y -1"="F : LPRINT"P"Y -1”"="P; TAB (25)
"T"Y ~1"="Ty TAB (60) "F’Y-1"="F

1976 NEXT Y

1980 RETURN
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Bi—&FHE¥K, (=0, 1, 2, 3.

SURPLUS—® 475 il

SPEG— 135 i,

SUM-— 337 A,

R—EMX R ¥

FO—Fi,

Ti—gETmbk®, d=1, 2, - )

Fi—& R8s, (=1, 2, 3 )
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V=872 CHEBEANERDH TR, CayHX,, X,, XoBEEREMRX, REN
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at: ¥5 S ‘ X, X, X, ‘ v
1 0.4 53 . 158 64
2 0.4 23 163 | 60
3 3.1 19 37| "
4 0.6 34 ‘ 157 61
3 4,7 21 59 | 54
6 1.7 65 ! 123 : 77
! 9.4 oo 16 81
8 10.1 31,17 93
9 11.6 29 | 173 93
10 12,6 58 ; 112 51
11 10.9 1 37 ! 111 76
12 23,1 46 E 114 - 96
13 23.1 50 | 134 7
14 21.6 FYR 73 93
15 23,1 56 168 95
16 1.9 36 143 54
17 26,8 58 | 202 168
18 P29 51 124 99
|

100 DATA 0.4, 53, 158, 64, 0,4, 23, 163, 60
110 DATA 3,1, 19, 37, 71, 0,6, 34, 157, 61
126 DATA 4.7, 24, 59, 54, 1,7, 65, 123, 7
130 DATA 9.4, 44, 46, 81, 10,1, 31, 117, 93
140 DATA 11,6, 29, 173, 93, 12.6, 58, 112, 51
150 DATA 10,9, 37, 111, 76, 23,1, 46, 114, 96



50, 134, 77, 21.6, 44, 73, 93
1.9, 36, 143, 54
19.9, 51, 124, 99

56, 168, 95,
58, 20z, 168,

B3=0,161133

R:

0,741177

SUM = 12389,5
FO =5,68858

P1

= 4394,15

P2=15,8977

P3

= 830,444

160 DATA 23.1,
176 DATA 23.1,
180 DATA 28,8,
190 GOSUB 1000
200 END
28 A
RUN RETURN
18 RETURN{
4 RETURN
Ni=18 N2= 4
NO, X1 Xz X3
1 0.4 53 158
2 0.4 23 163
3 3.1 19 37
4 0.6 34 157
5 4.7 24 59
6 1.7 65 123
7 9.4 44 46
8 10.1 31 117
9 11.6 29 173
10 12.6 58 112
11 10.9 37 111
12 23.1 46 114
13 23,1 50 134
14 21.6 44 73
15 23,1 56 168
16 1,9 36 143
17 26,8 58 202
18 29.9 51 124
Bo=43,6522
B1=1,78478
- B2=-0.0833964

64
60
71
61
54
77
81
93
93
51
76
96
77
93
95
54
168
99

SURRLUS = 5583, 41
SREQG = 6806, 08

T1=3,31934
T2=10,199655
T3=1,44301

F1=11.018
F2=0,398622
F3=2,08228



